The Wema Bank Aptitude Test is a Computer-Based Assessment
(CBA) and is a multiple-choice question that is divided into different
categories. Namely:

Subjects

*Verbal Reasoning

*Numerical/Quantitative Reasoning
*Reasoning Data Interpretation

*Computer Knowledge (For Bankers in Tech)

*Sales Knowledge (For Bankers in Sales)

Wema Bank Aptitude Test Past Questions

These questions have been selected from Dragnet questions as
many banks use this book for their recruitment tests.

You can proceed directly to download the GMAT past questions and
answers below for free.

1) Arrange the words given below in a meaningful sequence.

1. Key, 2. Door, 3. Lock, 4. Room, 5. Switch on

A.51,2,4,3
B.4,2,1,53
C.1,3,2,4,5
D.1,2,3,54



2) Arrange the words given below in a meaningful sequence.
1. Poverty, 2. Population, 3. Death, 4. Unemployment, 5. Disease

A.2,3,4, 51
B.3,4,2,5,1
C.2,4,1,5,3
D.1,2,3,4,5

3) Just as the sun’s rays can be focused on by a magnifying glass to
burn a piece of paper, high-intensity ultrasound waves can be
concentrated to burn human tissue. The waves are harmless until they
converge at the focal point, so a surgeon can operate deep inside the
body without harming the surrounding tissue.

HIFU requires no cuts to be made, and many operations don't even
need an anesthetic so that the patient can be in and out of hospital
within a day

How can HIFU enable the early release of patients from the hospital?

A. Ultrasound waves can be very focused

B. It allows for very deep penetration to the body
C. Itis harmless

D. No cuts are required

Choose the combination of words that is most suitable to ?Il in the
blanks:

4) Work-life balance schemes in the workplace have been by
employees and increase morale and at work.



A. Commended, Motivate

B. Celebrated, Discourage
C. Condemned, Inspiration
D. Applauded, Motivation

E. Criticized, Inspired

5) Jessica Mitford wrote The American Way of Death, a best-selling
book, that led eventually to an oacial investigation of the funeral
industry.

A. that led eventually

B. that had led eventually
C. that eventually led

D. which led eventually
E. who eventually led

6) Sabotage came from the French saboter, which means“to clatter
with wooden shoes (sabots).”

A. which means “ to

B. which means, “ to

C. that means “to

D. that means- “to

E. that means, “to

7) In studying an assignment it is wise to read it over quickly at ?rst,
than see the major points, and ?nally outline the material.

A. ?rst, than

B. ?rst: then

C. 7rst-then

D. Lrst, then

E. ?rst-than

8) Arctic trees are scrubbiest than trees in milder climates.
A. scrubbiest than trees

B. scrubbier then trees

C. scrubbiest than are trees

D. scrubbier than are trees

E. scrubbier than trees

9) Select the word that is spelled incorrectly:



A. Apprehensive
B. Deduction

C. Retrieve

D. Misspell

10) NEUTRAL means the same as...

A. Beige

B. Territory

C. Flag

D. Bland

E. Noncommiittal

11) Dan had an average of 72 on his ?rst four math tests. After taking
the next test, his average dropped to 70. Which of the following is his
most recent test grade?

A. 60

B. 62

C.64

D. 66

E. 68

12) What is the average of the ?rst 15 positive integers?
A.7

B.7.5

C.8

D.8.5

E.9

13) David had d dollars. After a shopping trip, he returned with c cents.
How many cents did he spend?

A.d-c
B.c-d
C.100d -c
D.100c - d
E.d - 100c

14) A certain copy machine produces 13 copies every 10 seconds.
How many copies will it produce in an hour if the machine operates
without interruption?

A.78



B. 468
C. 1800
D. 2808
E. 4680

15) A suit marked at $80 is sold for $68. What is the rate of discount?

A. 15%
B.12%
C.1711/17%
D. 20%
E. 24%

6) Dan had an average of 72 on his ?rst four math tests. After taking
the next test, his average dropped to 70. Which of the following is his
most recent test grade?

A. 60

B. 62

C. 64

D. 66

E. 68

17) What is the average of the ?rst 15 positive integers?
A.7

B.7.5

C.8

D. 8.5

E.Q

18) David had d dollars. After a shopping trip, he returned with c cents.
How many cents did he spend?

A.d-c
B.c—-d
C.100d -c
D.100c-d
E.d - 100c

19) A certain copy machine produces 13 copies every 10 seconds.
How many copies will it produce in an hour if the machine operates
without interruption?



A.78 B.
468 C.
1800 D.
2808 E.
4680

20) A suit marked at $80 is sold for $68. What is the rate of discount?

A.15%
B.12%
C.1711/17%
D. 20%
E. 24%

21) Which of the following are computers that are known as number
crunchers?

A. Palmtop computers
B. Micro computers

C. Macro computers

D. Super computers

E. Mainframe computers

22) How many bits equal one byte?

A2
B. 4
C.8
D.16
E. 32

23) USB is a common interface that enables the communication
between devices and a host controller such as a personal computer
(PC). ‘'S"in USB stands for?

A. Simple

B. Series

C. Serial

D. Speci?cation
E. Sorted



24) What is the extension of MS Dos command ?le?

tmp
.bin
.dbf
.com

moow>»

.doc

25) WORM is a data storage technology that prevents the drive from
erasing the data. What is the full form of WORM?

A. Write Out, Read Many

B. Write Once, Read More
C. Write Once, Read Much
D. Write Over, Read Mode
E. Write Once, Read Many

26) Which one of the following software applications would be the
most appropriate for performing numerical and statistical
calculations?

A. Database

B. Spreadsheets

C. Graphics Package

D. Document Processor
E. Slide Presentation

27) What is the probability that all are pink?

A.2/650
B. 1/680
C. 4/630
D. 3/680
E. 4/680

28) Which word does NOT belong with the others?

A. unique

B. beautiful
C.rare

D. exceptional



29) Guide is to direct as reduce is to
A. decrease. B. maintain. C.
increase. D. preserve.

30) All the trees in the park are powering trees.

Some of the trees in the park are dogwoods.

All dogwoods are powering trees.

If the ?rst two statements are true, the third statement is

a. true.
b. false.
C. uncertain.

Study the following information to answer the given questions

31) Expenditure of Ain 2014 and 2015 are N12 and N14.

What was the total income of A in 2014 and 2015 together?

A.N40.8
B.N40.4

C.N44

D. N46.4

E. None of these

32) Ratio of Expenditure of Companies A and B in 1993 was 4:5.

What was the ratio of their incomes in the same year?

A. 58:75



B. 7558 C.
78:55 D. 72:55
E. None of these

33) Total Expenditure of company B in all the years together was N125.
What was the total income of the company in all the years together ?

A.N185
B. N520
C. N250
D. Cannot be determined

34) From a group of 4 men, 3 women, 2 persons are selected at
random, Find the probability at least one man is selected?

A.6/7
B.7/6
C.5/6
D. 11/21
E. 12/21

35) What is the approximate ratio of students specializing in sports
medicine, emergency medicine and family practice?

A. 6:4:10

B. 1:4:5

C.2:8:10

D. 3:2:10

E. 3:2:5

36) One twelfth of the students who chose to specialize in family
practice plan to work abroad. How many is this?

A.7

B.8

C.5

D.9

E.3

37) Find 0.12 + 1
A.12
B.1.2



C..12
D..012
E..0012

38)(9+3)x(8+4) =
A1l

B.6

C.72

D. 576

E. 752

39)6x0x5
A. 30
B. 11
C.25
D.0
E. 27

40)7.95+1.5
A.2.4
B. 5.3
C.6.2
D.7.3
E.7.5

Wishing you good luck!



